o

4
o

— — — — — — — = = = e A s ST 2T &
— — — — —= — = == = = THBESTES
= = = = = = — - — — YHEEVREEE
- - - L8¢ y L8¢ ¢y L3¢ 54 HEERSH
- - 719°¢ 1 7S 31 10€ 961'CT 20¢ 961°7¢ 20¢ TEFH
- — Y19°¢ i 62631 yre wS'Te G € 77STT She X% E R
= = - = = = — = = = N EEESES
- I 7689 09L 6L8°L9 98¢°T1 0LTHL pIET 0LTYL opIel Xk E Y
— - SLY'T €67 7L9'6 <R YT11 [891C LyTT1 891°C N E Ry
= = = — = - — = - — NGHEEEFET
— — — - — - — - - — RYLig
— = — — = — - = = — p e =1
B - TLL'R9 - SLO6SL 356°65T 9¥8°L78 366651 0¥8°LT8 856°66T WL LY
~ — — — — — — — = — ErEXxt
- - Y79°¢ — 61611 3LTC €y CT 3LT°C eySeT QLTC U LK
- - 695°T - 91¢'L9 989°¢T 83'89 989°¢T $88°39 989°¢T WE HMT
- E 9% T 6C - GLS T GLS T HE e
— = = = == — 1 - e = = Mmm =z
— - CITY T SNE) 989°¢C1 09%°69 01L°¢1 097°69 01L¢T UWHT
— — - = = = = - = — WY EFE
B - — o - — - - - — U %
- - 397 90T S 677’1 ILLY ¥SS'T 1LLY SSil WO 3
- B €01 Wl 0T¥'LS 0LS8T Trr'ss T1L8T WSS TIL']T U s S 3
= — — — — — — — — - W %
- — 9 9 05791 62791 y1691 SEr 91 y1691 GEP9T WEY
— - GL]'GL LLT 70L7916 0LT€TT L5766 LYS €T 816766 LyS €Tt XY
- — R16°CE1 996°¢T ¥€9°¢L0°¢  |€0ET1SS 76590T°¢  |693%9S 755°90T°¢  |698+9¢ S
— 816°C¢1 996°¢T G90°060°C  |£0€TSS €86'TCTC  |698°Y9S £86°CCC’E  |698°79S BELES
42 ¥ H Y| 4 £ F Y| 42 ¥ H Y| { ¥ H AR £ H ¥ 1% . "
N H| N H H | 3 W F | (FEEKEESY)EN] e <
VLG F TUE HG £90IEY & &4
5 Xh w7 Y g 2
2-10-00-2060C ¥ ¥ WYY — YUY+ W e LTy | % 51
Wy ke | sy ¥ o




= — T€6°66£°C  |9L8°T08 7€6'66S°¢ 918108 HEB T+ 128 %
= = 69L°T 986°90C 69L°C- 986°90C ST
— — 0LT0Y'E  |0686S 0LT0V'E  [068F6S IEE=" v
= = - = = — YHBEYEE
- — - - - %ﬁmsw&sj & ¥h
= — — - |- = - Mw& £\ &
— — 000°0¢ T - 000°0€T - BT
— — - — <HT W ﬁ&%@ﬂ%ﬁ
= = 12€°€ 808 12¢°¢ 308 ¥ ﬂ WL M@
= — 8659y €176t 3659 €17°6¢ UGS )Y &
= = — — — AL
— — 6IL6LT 120°0¢ 61L°6LT 120°0¢ YREH Y
= = = - — B T ¥
— - — — — - YRHEHFE®
- - - - 89 - 89 - 89 - ERTICET
- - - — — — — — = = CIEE ]
- — - - €991 — €9¢°9T - €9¢°9T — B8 ¥k
= — - - 1€7°91 - €491 - 1¢H91 — W F ki
- — - - 16791 16791 - 16791 b ¥
- — 00S - 630°11Z 96¢°T 685°11C 96€'T 636 11T 96€°T R E
= — - . - — - - - Y EEU S E
- — - — 019 — 019 - 019% — Y B Yo EE
= — = == — = - — N Xh tfe YL R Y
— - 790°Gy YETTl YSL'YPRT  [2€0°TTE G18'688°'T  [99T¥zE C18'688°T  |99T°+TE NXh B O T
- - 790°Sy YETTl YSLYPRT  [2€07TT¢E SI8'688°T  [99¥ee G18'688'T  [997¥z¢ X e Y (g
— - — = = = = = ER TR
{2 ¥ H ¥ | m H ¥ fe ¥ H ¥ [ {2 ¥ H ¥ f ¥ H ¥ " = W
AR - O - RV B YO 11 % H F Y| (BEEES L) | 2 <
VLgEF TE HG H90IBE & 4
(1%)F Yhar 7 b b &
7-10-00-20602 2 ¥ WHHYH - FHY -+  Hwlee LY | % H
WYk ke | BWEY B O




= = = — = — = = — - ¥ SE dody
- —~ = = 1569Ty  |0T10°TTET  |TS69Ty  [OTOTTET  [19691%  [OLOTTEl FENGRYE
— = = = 16691y |0T0°TTET  [TS69Ty  [O10TTET  |1S69Ty __ |OT0TIEl T X de Sy
= — 050 129 0LT'SS L9001 12ELS L3901 TZ€°LS L3901 Y RY Yk
= = 6 — 0v8 S0t 6v8 S0¢ 6v8 S0¢ Y YEAw
= — 650C 129 11195 Tl 0LT'8S 76801 0LT'8S 76801 FY RO Sy AEaH
= — —~ = 678TT  |068°0¢ 6C8TCT__ |068°0¢ 6C8TCT _ |068°0¢ FYHHHR
- — — — L0S°E VIS LOS'E VST L0S°E ST FXERAE
— = 1LV'S = S1978C  |LLS€ES 980'88C  [LLSES 080887 |LLSES ¥ Ay
= = = = 95v'9€ 61T 957'9¢ i |611%T 95h'9¢ 6I1C TXE%Ew
~ — = = et SLSE e SLSE el SLS'¢ TYXELEH
= — 1LV'S = 008°LSy  |SL9'T6 1LTE9Y  |SL916 LTy [SL9°T6 FEHaER

= 8.8 985°L 8L8°06 8SL8 LST'66 reol LST'66 PE9T Y AW E
- = = = = = = = = = FEEX
= = S8¢Cy Ser'e 6LEET 990 YLLT 1059 YOL'LT 1059 FXET
= ~ = = S17°9S 69E°I STY'9S 69ECI ST7'95 69€C1 FrEy
= = €99°CI 12001 €L90LT _ [26T'ST OcCE8T  |€TToe OCCE8T  [eTCse RS k2 54
= = LOL’E [8€°T €eesy 1966 0£0ZS YSETT 0€0ZS ySETT YUY
- — —~ — 0Tr'9 16€T ) 15€T 0Zv9 16€T R R
= = - = oTeeLd  [€1601 7L [ET60T 9TEELy  |€160T FY E%
= — LOLE [8€°T 690°8CL _|1€eCe OLLTEL  |L19°€C OLLTEL  |L19°€C FYUXEHHEE
= = VLT 42 LLOOY £S8'L STy S68°L STy S68L G a2
= = ov = 601CCC  |eceve 6vTCee  [€Eeve 6vlcee  |eceve R

—~ 800T = 950%L 8T ¥90°SL 8Tl ¥90°SL (ETAA ¥
— = 0LL = £€9°€S 0L90T €0r'vS 0,901 €0r'vS 0L901 FY LBy
= = 66T w SL3C6E  [6€TS9 [9%°L6¢  |18T'S9 [98L6¢ 18159 F Y R —
= — V9T 1€ £6S18L°T  [9TL'€Ty  [SEL'LOST |LVO'OEV  [SELLO8T _ |LW09Ey {2 L &5
= = L9LVvT (98808 6CESL8T  |ySTHvh  [S60°0CT'C  |OV0'SCS  [S60°02T°E  |0v0°SeS tOLER

£ E|H ¥l E|H ¥l ¥|H ¥k O¥|H ¥ ¥|w ¥ " = w
P EFEEHEN | R YIS | F Y F F Y| (FEMHESY) | ¥
VA4 T HS H90TEY % 4
(3% ) % Fha 0 B b
¢710100°2060¢ ¥ WYY —H YUY+ B e LT Uy [ ¥ Y
T B e | B T IR




- - — — — — — - = = Ry ET
- - 0¢SE - 66T 0L 637 0LT 6237 0LT ¥ & T
= = = = = — — — — — Y $WEmNYE
— - 60€°LS 930°57 L0z 09T 785°LL 9v9°LT 78S°LL 99°LT FY¥mx
= ~ 8589 LTSS 05S°6C L0SY 80€°86 6LL6E 30£°86 6LL6E FYX¥T
— - 816ZS 7016 6511 6L1'T CIr'y 1879 CIT%9 1879 GREY |
— - 93G°8LT 197°59 31+'19 9’8 Y00°0VC L0LEL Y00°0VC LOLEL FY WS
- - T18°CT 60C 1 6671 S22 OTT'LT €591 011l €59'T FYx
— - - ~ ¢8 — S8 — 8 — T Y S
— — — — 'S 60Ty wi's 602V 'S 6007 Y 48X
— - 1181 60T 5796 59 LEV'ST 798°G LEV'ST 798°G HYUXHHLE
— — - - 0LT L 0Lz L 0LT L Y Sk
— — 628 - 00T 195 768 L9S 7687 195 F ¥y
= = = — LLT - LLT — LLT - P Yyl
= = = - 166 697 166 692 L66 697 EY ¥ L
— — 673 — 9vS°e g SLEY 8 CLEY L) X G —
— — ¥79°81¢ 9689 9¢L°¢6 8Tv°0T 09€°T1¢E 6688 09€°T1¢E £66°88 e ld¥r B
— - - — €08 H1 3EY'T €08H1 8¢HT c0RPT 3EYT FYXNY
- — = — = — — = — - FTEEY
= = — = = — = = - = FY RS
- -~ 05T 0SZ Ll 789°¢ T6E°LT 766°¢ T6E°LT 766°S FYlEuE®
— = 05T 05T LT 789°¢ T6€°LT 766°€ T6€°L1 766°€ Y ey gy
- - = = = - - = — - FELETHYE
- - - - 0L - 0L — 0L — Y e hey
- — - - 0L - 0L — 0L - Fr 4y
— - - - 00T2S 830TL 00T'¥CS 8307L 001925 880°TL F YW
12 ¥ H ¥ | 4z ¥ H Y| £ ¥ H ¥ f ¥ K ¥ | i ¥ H ¥ " . w

FY OEE N F YR E M | B Y W E Y| (BEKEESY)EY e 4

VYL Fl TE HS H901EM#E 4

(S8 ) F ey 0 i &
¢-10-00-2060¢ ¥ ¥ WHMYH - U Y=+ Wy LT HY | % b
WO O e A | B g N




cBMEXEBHEH N EHY Y YUV TN
o l6Hr T BB TR BT T | R Y ERHE FET  Em s B E Y Y 7
cHEBG FRFTUYRY]  (FRHEE) YRV ERHEY] GeR% YY1 ¥
EC¥ c HHHE BT WNRT T ()W E YOk
: YWt E
Y 8l H9 #901EM % ¥ e EYEFT4¥ wHE ¥
- G0ET0¢E S0€°10¢ YHHETIHY
— 0L68T 0L6°8T WEXHYY
— — 7e6'66£C  [9L8°T08 786'66£°C  [918°108 HEHY+EBEY
— — CECTLT - |SECTLT SECTLT SeeTLT by
— — L6SLTIE  [1¥S'6TS L6STLTTE  [THS6TS gy
= = = = = — FPXHEUEY
— - ~ — ~ - FEXRLHWITEHY
— - 9081~ 876’1 908°T1- 876'T MY EL  WERE
— — 80€°61 ST 80€°61 7LS'T ENEEH M ET
- - ~ — - — EFHEY
- - 708°L 005y T0S°L 005y FEREHEY
- - — — = — (ER S 1)
— — = = = = FXRdHL®
— — 08011 €68°T - - 080°TT €68'T 080°TT €68'T B E
— — — — — — — — - = TEEY
= = = = = = = = = - R s
- — - — — = — — — — GRTEE S
- =; = = = = = = = = T¥mEEymay
— - €61 — 901'8 980'T 6678 980'T 6678 980°T FYwE
- — $65°6 ¢ L8 er's LEE]T ver'S LEC8T vey'S o TR
- ~ - - - - — - = — TEXE¥Eaw
— - 5656 ¢ Ti's w©r's LECRT ) LECST A FYXBRYSEYYEaw
= — — — SN 88 68T 88 G8C'T 88 MY YHE
- - - - - - ~ - = = FYEUME
= — 0£5°C - 16 3 Yri'e 8 e 8 SRR 20
- - - - - - ~ — = — FY@Eydw
1 ¥l H Y| ¥|H Y| £ ¥l H Y|l ¥|H Y|4 ¥l H ¥ b . W
FEF EHMH | FY EFE | F Y OH FH Y| (BEEHES Y| f2 -2
YLhF o TE HG #90IE % 4
(E7E) ¥ Sh@r ik &
[ ziooowsor | % ¥ WU WA —HrhGE—+ BHEE (- Y | B H
| ¥yridorwea | WHEy A




